2022, 73(2), 156042

https://doi.org/10.37501/soilsa/156042



Microbial biomass carbon and enzymes-degraders of carbohydrates in polar soils from the area of Livingston Island, Antarctica

Boyka Malcheva¹, Maya Nustorova¹, Miglena Zhiyanski², Rositsa Yaneva², Evgeniy Abakumov³

¹University of Forestry, Faculty of Forestry, Department of Soil Science, 10 Kliment Ohridski Blvd., 1797 Sofia, Bulgaria ²Forest Research Institute – Bulgarian Academy of Sciences, 132 "St. Kliment Ohridski" Blvd., Sofia, Bulgaria ³St. Petersburg State University, Department of Applied Ecology, St. Petersburg, Russia

^{*} Prof. Dr. Miglena Zhiyanski, zhiyanski@abv.bg, ORCID iD: https://orcid.org/0000-0003-4843-6770

Abstract

Received: 2022-04-15 Accepted: 2022-10-25 Published online: 2022-10-25 Associated editor: J. Wyszkowska

Key words:

Polar soils Organic carbon Biomass carbon Cellulase Amylase Invertase Polar soils under different vegetation cover from Livingston Island (Antarctica) were studied analyzing indicators of carbohydrates decomposition in soils: organic carbon, biomass carbon, total nitrogen, C:N ratio, cellulase, amylase, and invertase activity. The highest values of microbial biomass in soils were indicated for sites with vegetation cover while the lowest values in soils without vegetation, which correlate with the content of total organic carbon and the C:N ratio. The highest percentage of biomass carbon compared to the total organic biomass carbon is obtained for two sites with mosses, and the lowest in sites without vegetation, followed by the sites with lichens. Cellulase activity is highest in polar soils with moss cover. Amylase activity depends more strongly on the type of vegetation. The highest amylase activity is detected in soils under algae cover and the lowest in soils without vegetation. Invertase activity is limited by the extreme soil and climatic conditions of Antarctica. A very strong, positive correlation is found between total carbon and total nitrogen. The relationship between total carbon and the C:N ratio, as well as between biomass carbon and amylase activity, is moderate, and positive. The higher dependence of amylase activity from organic carbon with microbial origin correlates with higher values of the enzyme amylase compared to the enzyme cellulase. There is a strong (cellulase) and very strong (amylase) positive relationship between the activity of enzymes and the combination of factors: total carbon, total nitrogen, C: N ratio and biomass carbon.

1. Introduction

Extreme weather conditions in Antarctica create one of the harshest habitats in the world. Low values of temperature and humidity, frequent freeze-thaw cycles, strong winds, strong sublimation and evaporation, high frequency of solar and especially ultraviolet radiation are significant limiting factors for the life of the ice continent (Cowan and Tow, 2004). In addition, geographical isolation and ecological stress provoke interest to study the endemic organisms there (Ruise et al., 2007). Microorganisms play a key role in nutrients cycle in the soils of the isolated Antarctic ecosystems, where organic matter is derived primarily from soil algae and slow-growing cryptogamous plants (Tibbles and Harris, 1996).

Antarctic sea vertebrates — seals, penguins, flying birds — periodically use the Antarctic coast for resting, moulting, breeding, resulting in the visited land is manured, creating new conditions for development of terrestrial biota (Tatur, 2002). The ornithogenic excrement, total organic carbon and phosphorus accumulation are the main factors controlling the microbial properties in Antarctic soils - microbial biomass, respiration, N-mineralization, enzymes activities follow the content of total organic carbon (Tscherco et al., 2003). A higher content of total organic carbon was found in polar soils with denser vegetation (Nustorova et al. 2002; Malcheva et al., 2020). Abakumov and Mukhametova (2014) concluded that sub-antarctic soils differ from Antarctic soils mainly by the increased thickness of organic layer, the content of total organic carbon, higher carbon microbial biomass, basal respiration, and metabolic activity levels. They obtained the highest values of total organic carbon in peat soils and soils under guano. The total organic carbon content varies from zero levels in soils of ahumic regolit (Ugolini and Bockheim, 2008; Campbell and Claridge, 1987; Bockheim, 2013) to 3-4% in soils under mosses, lichens and cereals (Abakumov, 2010; Simas et al., 2008), while in soils formed under guano the organic matter increased up to 30-40% (Simas et al., 2007).

Research on the enzyme activity of microbial communities in ecosystems from Antarctica is still relatively limited, the results reported are contradictory and this provoked interest in studying the activity of microbial enzymes under extreme con-

© 2022 by the authors. Licensee Soil Science Society of Poland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY NC ND 4.0) license (https://creativecommons.org/licenses/by-nc-nd/4.0/).

Malcheva et al.

ditions in this area. The biological activity of soils before 2002 is summarised by Beyer and Bolter (2002). The research on soil enzymatic activity in Antarctica of ornithogenic, pristine and human-impacted soils under different vegetation cover is reported by Krishnan et al. (2011) and Bragazza et al. (2019). Krishnan et al. (2011) found that a total of 25% of the tested fungal isolates showed significant activity for amylase, 25% for cellulase and 43% for protease. Moss cover is strongly related to the amount of organic carbon in the soiland the higher content is determining a higher microbial biomass (higher abundance of fungi compared to bacteria) and a higher overall activity of hydrolytic enzymes involved in C, N and P degradation processes (Bragazza et al., 2019). Machuca et al. (2015) found the highest β-glucosidase and acid phosphatase activities in the rhizosphere of soils sampled from a continental site with richerdiversity of vegetation cover. High urease activity was found in soils from two sites and the lowest enzyme activity was recorded only in soil under Deschampsia. antarctica. Enzyme activity decreased with a decrease of the incubation temperature, which depends on the enzyme – for example the β -glucosidase is most sensitive to temperature change, while urease is least affected.

Antony et al. (2016) found various groups of microorganisms in the snow cover (Proteobacteria, Actinobacteria, Firmicutes, Bacteroidetes, Deinococcus-Thermus, Planctomycetes, Verrucomicrobia, Euryarchaeota, Basidiomycota, Ascomycota, Cryptomycota and Rhizaria). All test isolates produced one or more of the enzymes lipase, protease, amylase, β -galactosidase,

cellulase and/or lignin-modifying enzyme. In the region Peninsula, the microbial presence and biochemical activity of isolated strains were studied, taking into account the reduced biogenicity of soils without vegetation and at higher altitude (Yergeau et al. 2007, 2009, 2012).

Activity of at least one extracellular enzyme was found in 60% of the total yeast isolates at 4 or 20°C when studying the activity of the enzymes: lipase, amylase, esterase, protease, pectinase, cellulase by Vaz et al. (2011). Cellulolytic and esterase activities are the most common and present in 76% of the isolates andthe activity of these enzymes was established to be highest in the rhizosphere of *Deschampsia antarctica*. Fenice et al. (1997) studied 33 fungal strains from the Antarctic region for their ability to produce extracellular enzymes. According to their results, lipases are usually present in large quantities in almost all strains, while polygalacturonase, amylase and phosphatase are common, and glucose oxidase, protease and DNAase activities are generally low or absent.

Proteolytic, caseinolytic and keratinase activity of thermophilic actinomycetes was established by Gushterova et al. (2004). Enzyme activity (protease, amylase, β -glucosidase) was found in 30 strains of yeast isolated from soils, mosses and lichens (Pavlova et al., 2004). Pavlova et al. (2004) investigated the lipid composition and production of β -glucosidase by *Cryptococcus visbniacii AL*. Five strains of yeast from soils, mosses and lichens were identified and the biosynthesis of exopolysaccharides was proven for all of them (Pavlova et al., 2004). The biochemical characteristics of other 5 strains of yeast isolated from soils and mosses were studied (Pavlova et al., 2004). The ability of newly isolated actinomycete strains from Antarctic soils to produce keratinolytic enzymes during their growth on sheep wool waste was also studied (Gushterova et al., 2005). The obtained results showed that both newly discovered strains – *Streptomyces flavis 2BG* (mesophilic) and *Microbispora aerata IMBAS-11A* (thermophilic) are very promising for efficient treatment of meat keratin waste.

The aim of the present study is to determine the microbial biomass carbon accumulation and the degree of enzymatic degradation of carbohydrates in polar soils from the coastal area of Livingston Island characterized by presence or lack of vegetation cover.

2. Materials and methods

2.1. Description of study area

Eight areas along the transect of coastal zone near to the Bulgaria Antarctic Base "St. Kliment Ohridski" in Livingston Island are chosen and sampled: Hesperides point Pluton (HPP), Caleta Argentina (CA), Jonson's Dock (JD), HAN (Hannah point), SV (Sanctuary), PB (Playa Bulgara), BP (Bird Bazaar), PUN (Punta Hesperides). The locations of studied areas are illustrated in Fig. 1.



Fig. 1. Locations of the sampling sites in Livingston Island, Antarctica

2.2. Soil sampling and analysis of samples

The subject of the present study is polar soil collected from 29 sites differentiated by the type of vegetation cover from eight case-study areas: without vegetation cover (bare soil), mosses, lichens, grass vegetation. Soils in 25 sites are characterized by a low thickness and sampling is performed in the upper 0–7 cm soil layer. In 4 sites with a deeper soil profile the sampling included the deeper layer over 7 cm depth and the mean value was calculated, but differences in depth are discussed.

The sampling was realized in December 2019 at different depths, depending on the total thickness of the soil: 0-7 cm and over 7 cm. The soil is collected in three repetitions per site with sterile plastic auger with a total amount of 500 g, preserved in sterile plastic bags and put in refrigerator for storage and further transportation to the laboratory. The time of transportation from Livington island to Bulgaria was realized in refrigerator bag and cargo shipping by airplane for a period of 5 days after sampling and the deviation from the real activity (on site) of the microbiome due to the transportation period is the same for all samples collected. A mean sample per site and per soil layer is formed for chemical analyses immediately after arrival of the samples in the laboratory. Soil samples were analyzed by the following methods: soil typology - on field (Campbell and Claridge, 1987), total organic carbon - by the method of wet combustion of Tyurin; total nitrogen, C:N ratio; microbial

Table 1

Site characteristics

No.	Site	Soil type			
BARE SOIL, 0–7 cm					
1	HPP B1 bay	Haploturbel Typic			
2	HPP B2 bay	Haploturbel Typic			
3	CA 3	Intrazonal – Histel/Typic Hemistel			
4	CA 2 (under nest)	Intrazonal – Histel/Typic Hemistel			
5	SV 1	Hemistel Typic			
6	PB 1	Haploturbel			
MOSS	COVER				
7	HPP B2 bay	Haploturbel Typic			
8	JD 1	Haploturbel Lithic			
9	BP 1	Spodorthel Lithic			
10	SV 1	Hemistel Typic			
11	SV 3	Hemistel Typic			
12	PB 2	Haploturbel			
13	PB 3, 0–7 cm	Haploturbel			
	PB 3, over 7 cm	Haploturbel			
14	HPP 1 Skua	Haploturbel Typic			
15	HAN 1	Hemistel Typic			
16	PUN-H1	Haploturbel Typic			
17	PUN-H2, 0–7 cm	Haploturbel Typic			
	PUN-H2, over 7 cm	Haploturbel Typic			
18	HPP 2 Skua	Haploturbel Typic			

Microbial characteristics of polar soils of Livingston Island, Antarctica

biomass carbon – fumigation method (Cai et al., 2011). Enzyme activity of microorganisms (cellulase, amylase, invertase) is determined according the spectrophotometric method (λ 400 nm) indicated by Gradova et al., 2004. The analyses were carried out in laboratories of Forest Research Institute and University of Forestry.

2.3. Data Analysis

Statistical processing of the data from the analysed indicators included calculating the average value of three repetitions and determination of coefficient of variation (CV). Correlation and regression analysis was applied to determine the dependencies between the studied indicators. Microsoft Excel 2010 software product was used for the statistical analysis.

3. Results and discussion

The decomposition and accumulation of organic matter in soils depends on the content of total organic carbon, total nitrogen and the ratio C:N (Table 1). The results obtained for soil typology for different sites differentiated according to the aboveground vegetation cover are also included.

As it was indicated above the content of total organic carbon in polar soils varies in wide range from zero levels (Ugolini

No.	Site	Soil type
GRAS	S COVER	
19	CA 1	Intrazonal – Histel/Typic Hemistel
20	JD 1	Haploturbel Lithic
21	PB 2	Haploturbel
22	HAN 2	Hemistel Typic
23	SV 2	Hemistel Typic
24	PB 3´, 0–7 cm	Haploturbel Typic
	PB 3´, over 7 cm	Haploturbel Typic
LICH	ENS COVER	
25	PUN-H2	Haploturbel Typic
26	CA 4, <i>Prasiola crispa</i> (algae) 0-7 cm	Intrazonal – Histel/Typic Hemistel
	CA 4, <i>Prasiola crispa</i> (algae), over 7 cm	Intrazonal – Histel/Typic Hemistel
27	HAN 1, <i>Prasiola crispa</i> (algae) cover	Hemistel Typic
28	HPP 1 Skua	Haploturbel Typic
29	HPP 2 Skua	Haploturbel Typic

3

and Bockheim, 2008; Campbell and Claridge, 1987; Bockheim, 2013) to 3-4% (Abakumov, 2010; Simas et al., 2008), or even up to 30-40% in soils formed under guano (Simas et al., 2007). Moreover, ornithogenic excrement, total organic carbon and phosphorus accumulation control – microbial biomass, respiration, N-mineralization in Antarctic soils, therofre the enzymes activities follow the content of total organic carbon (Tscherco et al., 2003). The C:N ratio in studied polar soils varied from 5.680 to 19.533. The tendence of higher values of C:N ratio is observed in soils under vegetation cover (under moss in site 13 PB 3 and under grass in site 24 PB 3'). The content of C and N in PB 3 - moss, over 7 cm, is the lowest compared to other sites (C - 0.0879% and N - 0.0045%), but the ratio C:N, as well as the percentage of biomass carbon to total carbon showed the highest values, which, however, does not relate to better enzyme activity at this site. The decomposition of cellulose is more embarassed than the decomposition of starch. It could be assumed that insofar as low C:N values are established for all studied sites, the soils in the harsh polar conditions are characterized by a deficiency of carbon and nitrogen sources for optimal development of the microflora and vegetation. At the same time, the low content of nitrogen sources presupposes its active immobilization by microbes, which further impairs the development of plants.

The accumulation of total organic carbon, total nitrogen and microbial biomass carbon is presented in Table 2. In terms of organic carbon content, the polar soils in the studied coastal area of Livingston Island are conditionally divided into three groups: 1) with organic carbon content between 3% and 5%, established mainly in soils under vegetation cover and with additional ornitogenic impact (SV3, CA2, CA1, PB2, PUN-H2); 2) with organic carbon content between 1% and less than 3%, established in bare soils and under lichens and mosses, but also in deeper soil layers (over 7 cm, where soils were deeper) (CA3, SV1, HPP 1 Skua, HPP 2 Skua, CA 4, PUN-H2, PB2, JD1, PUN-H2, PB 3'); and 3) with content of organic carbon less than 1%, and this amount was lowest in floodplains, two of which without vegetation (HPP B1, HPP B2) and one with moss vegetation (HPP B2), as well as in site PB 3 (under moss) for both sampling depths. Similar tendencies are found for the content of total nitrogen in the investigated variants.

The accumulation of total organic carbon and total nitrogen were higher in soils with vegetation cover (moss and grass separately), as well as in the soil near bird nests. On the other hand, low values of total organic carbon and total nitrogen were found in variants with the same vegetation. While in the variants with lichens, the content of C and N was average compared to the other variants. In general, the presence of organic substrates increases the content of organic carbon and total nitrogen in superficial soil layer, but is not the only factor for their accumulation. Influence is exerted by a complex of factors – vegetation, soil type, soil temperature, location (in floodplains the content of organic carbon and total nitrogen is lower regardless of the presence or absence of vegetation).

Microbial biomass showedthe highest values at sites with vegetation, which could be probably a consequence of the presence of exudates and mechanical waste from organic substances. Biomass carbon in sites indicated as "bare soil" drops up to 3.3 times. Therefore, in soils without vegetation cover, the values of microbial biomass carbon could be referred as controls. The moss and grass cover variants had higher microbial biomass carbon values compared to the variants with lichen cover (close to control). There is a decrease in depth on this indicator 1.1 times in soils with grass and moss cover – PB 3 and PB 3′.

As a relationship between total organic carbon and that of microbial origin, it can be noted that the highest values of total organic carbon are also found in soils under vegetation (SV 3, PB 3, CA 1). This trend is not clearly expressed for all sites with vegetation cover for total organic carbon compared to microbial organic carbon. A higher amount of total organic carbon is also found in the soil under the bird nest (ornitogenic impact), while the value of the microbial biomass at this site is low. This is probably due to the difficult-to-decompose organic matter that makes up the structure of the nests, while the exudates and debris from the plants activate the activity of soil microorganisms. Bragaza et al. (2019) also found that moss cover of polar soils was closely related to the amount of organic carbon in the soil and with its higher content determines a higher microbial biomass. A higher content of total organic carbon was found in polar soils with denser vegetation (Nustorova et al. 2002, Malcheva et al., 2020). The percentage of microbial biomass to the total organic carbon is presented in Fig. 2.



Fig. 2. Percentage participation of microbial biomass carbon in total organic carbon

SOIL SCIENCE ANNUAL

Microbial characteristics of polar soils of Livingston Island, Antarctica

The highest percentage of biomass carbon in relation to the total organic carbon is determined in soil under moss, and the lowest (less than 1%) for: CA 2 under nest, CA 3, HPP 1 Skua, HPP 2 Skua.

With regard to the organic carbon of microbial origin, a clear trend is established between its content and the type of vegetation – biomass carbon has the highest values in soils with moss cover, followed in descending order by those with grass, lichen, nest and without vegetation (bare soil). Plant root exudates and residues activate the activity of soil microorganisms, which predetermines a clearer "vegetation-microbial biomass" trend compared to the distribution of total organic carbon and total nitrogen by organic cover type.

The enzyme activity of the studied soils is determined by the activity of enzymes involved in carbohydrate metabolism – degrading polysaccharides, which are the main structural and energy components in living cells – cellulase and amylase, as well as invertase.

Cellulase activity is presented in Fig. 3. The highest values of cellulase activity are again determined in the soils with veg-

etation cover and An exception was established for two sites with moss cover - PB 3 > 7 cm and PUN-H2. In the latter, the activity of the enzyme decreases to the highest degree. For the other samples, the cellulase activity decreases in the following order: "soil under moss" > "soil under grass" > "soil under lichens" > "soil under nest". There is a decrease in the depth of the enzyme activity - 4 times at the PB 3 site and 1.2 times at the PB 3' site. There is a logical dependence for the presence of higher levels of cellulase in soils with vegetation and correspondingly higher values for cellulase activity. In the studied polar soils, however, with regard to the relationship between cellulase activity and vegetation, a clearer relationship was established only between the presence of moss and higher cellulase activity. In terms of higher enzyme activity, the site without an organic cover follow. The role of soil microorganisms surviving in extreme conditions is significant - in a previous study of the same variants, high biogenicity in soils without plant cover was found (Malcheva et al., 2020).

The amylase activity of the studied polar soils is presented in Fig. 4. Amylase activity is also highest in soils with vegetation cover.



* CV up to 10% for all variants (low dispersion)

Fig. 3. Cellulase activity



* CV up to 10% for all variants (low dispersion)

Fig. 4. Amylase activity

Amylase enzyme values decrease in the order: lichen, nest, moss, grass, no cover. The decrease is 2.5 times lower in bare soils. The presence of plant secretions and waste activate the production of the enzyme by microbes. In depth, the amylase activity increases up to 1.4 times in deeper soil under moss compared to the superficial layer in the same site. Similar tendence is observed in PB 3'.

Contrary to cellulase, for amylase activity a strong dependence is found between the presence of vegetation and enzyme values – to the highest extent for the soil under nest (with organogenic impact) and algal crust, where amylase activity is twice as high as cellulase.

Invertase activity showed negative values for all tested samples. Enzyme activity of polar soils, including for the studied enzymes cellulase and amylase, is also established by other authors for identified strains of bacteria, actinomycetes, yeasts, fungi (Antony et al., 2016; Vaz et al., 2011; Krishnan et al., 2011; Fenice et al., 1997; Gushterova et al., 2004, 2005; Pavlova et al., 2004). Biogenicity and enzymatic activities in these soils depend on soil temperature and biogenicity, altitude, organic carbon content, presence or absence of plant cover, sampling depth, and other factors (Bragazza et al., 2019; Machuca et al., 2015; Yergeau et al. 2007, 2009, 2012; Nustorova et al. 2002; Malcheva et al., 2020; Tscherco et al., 2003). According to Abakumov and Mukhametova (2014), sub-antarctic soils differ from Antarctic soils mainly by the increased thickness of organic layer, the content of total organic carbon, higher carbon microbial biomass, basal respiration, and metabolic activity levels.

The correlations between total carbon, total nitrogen, C:N ratio, biomass carbon, cellulase and amylase activities are presented by correlation analysis in the following Table 2.

A very strong, positive correlation is found between total carbon and total nitrogen (r > 0.9). The relationship between total carbon and the C:N ratio, as well as between biomass carbon and amylase activity, is moderate and positive. The other correlations are weakly positive or weakly negative. Moderately, negatively cellulase activity depends on the C:N ratio, as the higher values of one variable correspond to lower values of the other variable. The higher dependence of amylase activity from organic carbon with microbial origin correlates with higher values of the enzyme amylase compared to the enzyme cellulase.

SOIL SCIENCE ANNUAL

Table 2

Contents of total org. and biomass C, total N and C:N ratio

No.	Site	Total C (%)	Total N (%)	C:N	Biomass C (%)
BAR	E SOIL, 0–7 cm				
1	HPP B1 bay	0.198	0.031	6.376	0.013
2	HPP B2 bay	0.088	0.012	7.205	0.014
3	CA 3	2.182	0.239	9.132	0.014
4	CA 2 (under nest)	4.174	0.585	7.132	0.016
5	SV 1	1.983	0.184	10.763	0.015
6	PB 1	0.793	0.087	9.078	0.015
MOS	S COVER				
7	HPP B2 bay	0.099	0.012	8.131	0.042
8	JD 1	1.252	0.123	10.221	0.043
9	BP 1	0.694	0.089	7.818	0.044
10	SV 1	1.878	0.173	10.850	0.044
11	SV 3	4.661	0.403	11.566	0.043
12	PB 2	3.173	0.261	12.168	0.042
13	PB 3, 0–7 cm	0.198	0.031	6.480	0.045
	PB 3, over 7 cm	0.088	0.005	19.533	0.043
	Mean	0.143	0.018	8.131	0.044
14	HPP 1 Skua	0.694	0.061	11.325	0.043
15	HAN 1	0.522	0.078	6.680	0.039
16	PUN-H1	0.496	0.061	8.088	0.044
17	PUN-H2, 0–7 cm	2.777	0.245	11.329	0.044
	PUN-H2, over 7 cm	1.488	0.133	11.167	0.038
	Mean	2.132	0.189	11.269	0.041
18	HPP 2 Skua	0.496	0.080	6.229	0.044
GRAS	SS COVER				
19	CA 1	3.471	0.376	9.229	0.034
20	JD 1	0.522	0.077	6.811	0.034
21	PB 2	1.289	0.104	12.384	0.035
22	HAN 2	0.730	0.129	5.680	0.035
23	SV 2	0.835	0.089	9.347	0.046
24	PB 3´, 0–7 cm	2.182	0.131	16.718	0.046
	PB 3´, over 7 cm	0.992	0.091	10.862	0.042
	Mean	1.587	0.111	14.308	0.044
LICH	ENS COVER				
25	PUN-H2	1.091	0.110	9.889	0.015
26	CA 4, <i>Prasiola crispa</i> (algae) 0–7 cm	1.587	0.190	8.369	0.033
	CA 4, <i>Prasiola crispa</i> (algae), over 7 cm	0.496	0.063	7.895	0.033
	Mean	1.041	0.126	8.2512	0.033
27	HAN 1, <i>Prasiola crispa</i> (algae) cover	0.522	0.078	6.680	0.038
28	HPP 1 Skua	1.884	0.157	11.986	0.016
29	HPP 2 Skua	1.785	0.187	9.541	0.015

 \ast CV up to 10% for all indicators and variants (low dispersion)

Malcheva et al.

Table 3

Correlation coefficients (r)

Indicators	Total org. C	Total N	C:N	Biomass C	Cellulase	Amylase
Total org. C	1					
Total N	0.942	1				
C:N	0.253	0.040	1			
Biomass C	-0.084	-0.183	0.210	1		
Cellulase	-0.143	-0.127	-0.504	0.053	1	
Amylase	0.049	0.061	0.109	0.263	-0.263	1

Through the created correlation matrix, a check for independence of the factors is made. The presence of correlation coefficients greater than 0.7 (even if only one in the matrix) indicates that there is a multicollinearity between the factor variables. Regression analysis is applied to determine the dependence of the enzymes cellulase and amylase on a complex of factors (total carbon, total nitrogen, C: N ratio and biomass carbon). A strong (cellulase) and very strong (amylase) positive relationship is established between the activity of enzymes and the combination of these factors (Table 3).

Table 4

Regression analysis

Cellulase activity Regression Statistics	
Multiple R	0.9284
R Square	0.8620
Adjusted R Square	0.8115
Standard Error	0.0395
Observations	32

ANOVA

	Df	22	MS	F	Significance F
	Dj	00	MO	1	Significance I
Regression	4	0.2726	0.0681	43,7082	2.03999E-11
Residual	28	0.0437	0.0016		
Total	32	0.3162			

Amylase activity Regression Statistics	
Multiple R	0,969238
R Square	0,939422
Adjusted R Square	0,897217
Standard Error	0,03919
Observations	32

ANOVA

	Df	SS	MS	F	Significance F
Regression	4	0.6669	0.1668	108.5526	3.1463E-16
Residual	28	0.0430	0.0016		
Total	32	0.7099			

4. Conclusions

Vegetation cover is one of the sources of organic substances in polar ecosystems in studied coastal area of Livingston Island and could be indicated as a factor for the formation of soil organic matter and its accumulation in polar soils.

Low values of C:N ratio were found for all studied sites, as the soils in the harsh polar conditions are characterized by a deficiency of carbon and nitrogen sources for optimal development of the microflora and vegetation. In general, in the soils under vegetation the C:N ratio reaches higher values than in the sites without vegetation – only soil and soil under the nest.

Biomass carbon of microbial origin has the highest values in soils with vegetation cover and the lowest in soils without vegetation, which correlates with the content of total organic carbon in most of the sites. The organic plant substances activate the activity of soil microorganisms, which predetermines a clearer "vegetation-microbial biomass" trend compared to the distribution of total organic carbon and total nitrogen by organic cover type. Biomass carbon compared to the total organic carbon has the highest percentage in two of the sites with moss vegetation, and the lowest in sites without vegetation, followed by the sites with lichens.

Cellulase and amylase activities depend on type of vegetation cover, which is stronger for amylase acitivity. Cellulase activity is highest in most moss-covered soils. In terms of higher cellulase activity, the sites without organic cover follow. While the highest amylase activity is found in soils under algae cover and the lowest in soils without vegetation cover. In general, the activity of both enzymes correlates with the values of the C:N ratio.

Invertase activity is limited in the soils developed under theclimatic conditions of Antarctica. No such activity was detected.

A very strong, positive correlation is found between total carbon and total nitrogen. The relationship between total carbon and the C:N ratio, as well as between biomass carbon and amylase activity, is moderate, positive. The higher dependence of amylase activity from organic carbon with microbial origin correlates with higher values of the enzyme amylase compared to the enzyme cellulase. There is a strong (cellulase) and very strong (amylase) positive relationship between the activity of enzymes and the combination of factors: total carbon, total nitrogen, C:N ratio and biomass carbon.

Acknowledgments

Funded under the program Bilateral Cooperation Bulgaria – Russia 2018-2019 under Contract KP-06-Russia/29 – 28.09.2019 and project "Assessment of the regional contribution of antarctic soils to the global carbon balance through assessment of the degree of stabilization and humiification of organic matter".

This work has been carried out in the framework of the National Science Program "Environmental Protection and Reduction of Risks of Adverse Events and Natural Disasters", approved by the Resolution of the Council of Ministers № 577/17.08.2018 and supported by the Ministry of Education and Science (MES) of Bulgaria (Agreement № Д01-279/03.12.2021).

References

- Abakumov, E.V., 2010. The sources and composition of humus in some soils of West Antarctica. European Journal of Soil Science 43, 499–508. https://doi.org/10.1134/S1064229310050030
- Abakumov, E., Mukhametova, N., 2014. Microbial biomass and basal respiration of selected Sub-Antarctic and Antarctic soils in the areas of some Russian polar stations. Solid Earth 5, 705–712. https://doi. org/10.5194/se-5-705-2014
- Beyer, M., Bolter, L., 2002. Geoecology of Antarctic Ice-Free Coastal Landscapes. Ecological Studies, Vol. 154. ©Springer-Verlag Berlin Heidelberg. ISBN: 3 540 42268 4.
- Bragazza et al., 2019. Soil microbial community structure and enzymatic activity along a plant cover gradient in Victoria Land (continental Antarctica). Geoderma 353, 144–151. https://doi.org/10.1016/ j.geoderma.2019.06.033
- Bockheim, J.G., 2013. Paleosols in the Transantarctic Mountains: indicators of environmental change. Solid Earth 4, 451–459, https://doi. org/10.5194/se-4-451-2013
- Cai, Y., Peng, Ch., Qiu, S., Li, Y., 2011. Dichromate Digestion–Spectrophotometric Procedure for Determination of Soil Microbial Biomass Carbon in Association with Fumigation–Extraction. Communications in Soil Science and Plant Analysis 42(22), 2824–2834. https://doi.org/10.1 080/00103624.2011.623027
- Campbell, I.B., Claridge, G.C., 1987. Antarctica: Soils, Weathering Processes and Environment, Elsevier, Amsterdam. ISBN 0 444 42784 8.
- Cowan, D.A., Tow, L.A., 2004. Endangered Antarctic Environments. Annual Review of Microbiology 58, 649–690. https://doi.org/10.1146/ annurev.micro.57.030502.090811
- Fenice, M., Selbmann, L., Zucconi, L., Onofri, S., 1997. Production of extracellular enzymes by Antarctic fungal strains. Polar Biology 17(3), 275–280. https://doi.org/10.1007/s00300-014-1606-7
- Gradova, N., Babusenko, E., Gornova, I., 2004. Laboratory Workshop on General Microbiology, publisher: "DeLi Print", Moscow, 144p. ISBN: 5-94343-060-1. (in Russian)
- Gushterova, A., Noustorova, M., Pavlova, K., 2004. Keratinase Production of Thermophilc Actinomycetes Species from Antarctica. Bulgarian Antarctic Research, Life Science4, Pensoft Publisher, 23–26. ISBN: 954-642-219-3.
- Gushterova, A., Vasileva-Tonkova, E., Dimova, E., Nedkov, P., Haertlé, Th., 2005. Keratinase Production by Newly Isolated Antarctic Actinomycete Strains. World Journal of Microbiology and Biotechnology 21(6–7), 831–834. https://doi.org/10.1007/s11274-004-2241-1
- Krishnan et al., 2011. Extracellular hydrolase enzyme production by soil fungi from King George Island, Antarctica. Polar Biology 34, 1535–1542. https://doi.org/10.1007/s00300-011-1012-3
- Malcheva, B., Nustorova, M., Zhiyanski, M., Sokolovska, M., Yaneva, R., Abakumov, E., 2020. Diversity and activity of microorganisms in Antarctic polar soils. One Ecosystem 5: e51816. https://doi.org/10.3897/ oneeco.5.e51816
- Nustorova, M., Grozeva, M., Gushterova, A., 2002. Study of Soils from the Region of Livingston Island, Antarctica. Bulgarian Antarctic Research, Life Science 3, Pensoft Publisher, 21–28. ISBN: 954-642-159-6.
- Pavlova, K., Zlatanov, M., Angelova, G., Savova, I., 2004. Lipid Composition and l-Glucosidase Production from Cryptococcus Vishnlacii AL4. Bulgarian Antarctic Research, Life Science 4, Pensoft Publisher, 9–22. ISBN: 954-642-219-3.
- Pavlova, K., Gushterova, A., Savova, I., Nustorova, M., 2004. Izolation and Taxonomic Study of Antarctic Yeasts from Livingston Island for Exopolysaccharide producting, Bulgarian Antarctic Research, Life Science, Vol. 4, Pensoft Publisher, pp. 27–34. ISBN: 954-642-219-3.
- Pavlova, K., Zlatanov, M., Koleva, L., Pishtiyski, I., 2004. Biochemical Characteristic of Antarctic Yeasts. Bulgarian Antarctic Research, Life Science, 4, Pensoft Publisher, 35–46. ISBN: 954-642-219-3.

Malcheva et al.

- Ruise, S., Barreca, D., Selbmann, L., Zucconi, L., Onofri, S., 2007. Fungiin Antarctica. Reviews in Environmental Science and Bio/Technology 6(1–3), 127–141. https://doi.org/10.1017/S0954102018000421
- Simas, F.N.B., Schaefer, C.E., Melo, V.F., Albuquerque-Filho, M.R., Michel, R.F.M., Pereira, V.V., Gomes, M.R.M., Da Costa, L.M., 2007. Ornithogenic cryosols from Maritime Antarctica: Phosphatization as a soil forming process. Geoderma 138(3–4), 191–203. https://doi.org/10.1016/ j.geoderma.2006.11.011
- Simas, F.N.B., Schaefer, C.M., Albuquerque, F.M.R., Francelino, M.R., Filho, E.I., Da Costa, L.M., 2008. Genesis, properties and classification of Cryosols from Admiralty Baymaritime Antarctica. Geoderma 144, 116–122. https://doi.org/10.1016/j.geoderma.2007.10.019
- Tatur, A, 2002. Ornithogenic Ecosystems in the Maritime Antarctic – Formation, Development and Disintegration. [In:] Beyer, L., Bölter, M. (eds), Geoecology of Antarctic Ice-Free Coastal Landscapes. Ecological Studies, vol 154. Springer, Berlin, Heidelberg. https://doi. org/10.1007/978-3-642-56318-8_10

- Tibbles, B.J., Harris, J.M., 1996. Use of radiolabelled thymidine and leucine to estimate bacterial production in soils from continental Antarctica. Applied and Environmental Microbiology 62, 694–701. https://doi.org/10.1128/aem.62.2.694-701.1996
- Tscherco, D., Bölter, M., Beyer, L., Chen, J., Elster, J., Kandeler, E., Kuhn, D., Blume, H.P., 2003. Biomass and Enzyme Activity of Two Soil Transects at King George Island, Maritime Antarctica. Arctic. Antarctic, and Alpine Research 35(1), 34–47, https://doi.org/10.1657/1523-0430(2003)035[0034:BAEAOT]2.0.CO;2
- Ugolini, F.C., Bockheim, J.G., 2008. Antarctic soils and soils formation in a changing environment: A review. Geoderma 144, 1–8. https://doi. org/10.1016/j.geoderma.2007.10.005
- Vaz, A., Rosa, L., Vieira, M., Garcia, V., Brandão, L., Teixeira, L., Moliné, M., Libkind, D., Broock, M., Rosa, C., 2011. Thediversity, extracellular enzymatic activities and photoprotective compounds of yeasts isolated in Antarctica. Brazilian Journal of Microbiology 42(3), https://doi. org/10.1590/S1517-83822011000300012